

EREN ISMAIL UREO

19/ENG02/017

Computer Engineering

$$x^2 - 5x + y^2 - y + 4 = 0$$

$$\left(x - \frac{5}{2}\right)^2 + \left(y - \frac{1}{2}\right)^2 + 4 = \frac{25}{4} + \frac{1}{4}$$

$$\Rightarrow \left(x - \frac{5}{2}\right)^2 + \left(y - \frac{1}{2}\right)^2 = \frac{25}{4} + \frac{1}{4} - \frac{16}{4}$$

$$\Rightarrow \left(x - \frac{5}{2}\right)^2 + \left(y - \frac{1}{2}\right)^2 = \frac{5}{2}$$

$$\Rightarrow \therefore \text{Centre} \Rightarrow \left(\frac{5}{2}, \frac{1}{2}\right), \text{radius} = \sqrt{\frac{5}{2}}$$

$$\text{gradient} \Rightarrow \frac{1}{-\frac{1}{2}} \Rightarrow \frac{3}{2} \div \frac{-11}{2}$$

$$\frac{-5}{2} \Rightarrow \frac{-3}{11}$$

$$\therefore \text{gradient of tangent} = \frac{11}{3}$$

$$\text{gradient} \Rightarrow \frac{0 - \frac{1}{2}}{\frac{1 - 5}{2}} \Rightarrow \frac{-\frac{1}{2}}{\frac{-4}{2}} \div \frac{-3}{2}$$

$$\frac{1}{2} \Rightarrow \frac{1}{3}$$

$$\text{gradient of tangent} \Rightarrow -3$$

∴ equation of tangent at P(1, 0)

$$y - 0 = -3(x - 1)$$

$$= y = -3x + 3$$

$$\Rightarrow y + 3x - 3 = 0$$

$$2^{\circ}) x^2 + y^2 - 12x - 12y + 47 = 0$$

$$\Rightarrow x^2 - 12x + y^2 - 12y + 47 = 0$$

$$(x - 6)^2 + (y - 6)^2 = -47 + 36 + 36$$

$$\Rightarrow (x - 6)^2 + (y - 6)^2 = 25$$

$$\therefore \text{centre} = (6, 6) \quad \text{radius} = 5$$

$$\text{gradient} = \frac{0 - 6}{1 - 6} = \frac{-6}{-5} = \frac{6}{5}$$

$$\therefore \text{gradient of the tangent} = \frac{-5}{6}$$

$$y - 0 = \frac{-5}{6}(x - 1)$$

$$\Rightarrow y - 0 = \frac{-5}{6}x + \frac{5}{6}$$

$$\Rightarrow y + \frac{5}{6}x - \frac{5}{6} = 0$$

$$\therefore 6y + 5x - 5 = 0$$

$$x^2 + y^2 - 8x + 14y + 40 = 0$$

$$x^2 - 8x + y^2 + 14y + 40 = 0$$

$$(x-4)^2 + (y+7)^2 = -40 + 16 + 49$$

$$\Rightarrow (x-4)^2 + (y+7)^2 = 25$$

\therefore centre = $(4, -7)$

$$\text{gradient} = \frac{0 - (-7)}{1 - 4} \Rightarrow \frac{7}{-3}$$

gradient of tangent $\Rightarrow \frac{3}{7}$

$$\therefore \text{equation} \Rightarrow y - 0 = \frac{3}{7}(x - 1)$$

$$\Rightarrow y = \frac{3x}{7} - \frac{3}{7}$$

$$\Rightarrow y - \frac{3x}{7} + \frac{3}{7} = 0 \Rightarrow 7y - 3x + 3 = 0$$